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SUrLUL2eh L2US ULUSNraC X - - 16,431.0 - 16,431.0 - - 16,431.0 - 16,431.0
2000000{1. CLEUSPY ELUUNRSLEN X - - 11,681.0 - 28,6322 - - 45,783.4 - 64,904.9
{(wnn 2112000+wnn 2113000)
wyn pymd
2112000]2. MUTSNLULUL HuyusLArCLER X - - 11,081.0 - 24,9322 - - 38,783.4 - 55,404.9
nnhg
2112300 2.3 ULlippht wupipntwluls npwdwpbinphbibp’ uyugdws % 11,081 0 - 24,9322 - 38,783.4 - 55,404 9
Gunwiupdwl wy dwlupnuwllibphg
2112310(2.3.1 pupwghl Utppht wupuinuwluwl npwdwounphlbp’ 733100 11,081.0 249322 38,783 4 55,404 9
unwigdusd Yunwuipdwl wy dupwpnwlubphg, win pynul’
2112311]2 3.1.1 whuwlywl pniglihg, x 11,081.0 24,9322 38,783 4 - 55,404 9
wyny pynud
2112312[2.3 111 whnmgegwy Ynndhg wwanghpuljws Swluubiph X - - 11,0810 - 24,9322 - 38,783.4 55,4049
thnfuhwuinigned
2113000(3. USL LUUNRSLEN X 600.0 - 3,700.0 - 7,000.0 - 9,500.0
nphg’
2113100 3.1. tlwidnunubip ubithwljuiungeyntuhg x - 500.0 35000 - - 6,500.0 - 9.0000
211313003 1 3. gmyph Jupdujuimpgniihg Gudnunutn 741500 - 5000 = 3,500 0 6,5000 9.000.0
2113200[3 2 tlwinunbbp wypwipbbph dwnwlwpwpndhg b x - - 100.0 = 200.0 5000 - 5000
Swinwynyayntiinh dunnigmidhg
2113210132 1. Guiinunubp wuypwbptbph dwnwlwpwpnuihg u 742100 100.0 = 2000 - - 5000 500.0
Swnuwynipnulibiph dwuninignidhg
1000000}1. CLAUUELL TURULE X - - 28,112.0 - 45,063.2 - - 62,214.4 - 81,335.9
(wnnn 1100000+ ninn 4000000)
wyn pynud
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1100000|U. CLRUSHPY TULULP X 27,012.0 43,963.2 61,114.4 80,235.9
(wnn 1110000+ wnn 1120000 + winn 1140000+wnn
1150000+wnn 1160000 +innn 1170000)
uyn) pynud
1110000 1. UTHUSULLR HUrausSrh@3NkL X 16,940.0 29,483.0 41,826.0 56,616.7
(winn 1111000+ ninn 1112000+wnnn 1113000 +wnnn
1115000+unn 1116000)
wyr pyYmd’
111000] - Usfuwwnnqubinh wofuwnwwpdtin b hwytudtwputn 411100 9.7340 222770 34,6200 49,4107
1112000/ - Mwpgqlwnpnidubp, ppudulwl jupwpunundutip U hwnnd 411200 7,206 0 72060 7.206.0 7,206 O
Jbwnubin
11200002, TUNUBNRE3NRLLEN P B4 UNCULRLENR X 4,510.0 6,020.0 7,981.0 8,676.0
asnersrnby
(tnnn 1121000+ wing 1122000 + 1ninn 1123000+ winn
1124000+ winn 1125000+ winn 1126000)
wjy pynud
1121000 | 2.1. Twpmbwlwlwb dwiuubp x 1,970.0 2,780.0 3,030.0 3,180.0
1121200] - Eubipgbinbly dwawynigpymtitin 421200 6900 1.300 0 1.300 0 1,300 0
1121300] - Yndntuw Swnwjnipniiutn 421300 500 100 0 2000 2000
1121400] - Ywyh dwnuyniagniuibp 421400 150.0 300.0 450.0 6000
1121500] - Uywhnjwgpwljwl swiuubip 421500 1,080.0 1.080 0 1,080.0 1,080.0
1122000 | 2.2. Dwnuynnuijusts gnpdninmdbbph qénd dwfuubp x 100.0 200.0 300.0 400.0
11221001 - Lbipght gnpdninnudutip 422100 1000 2000 3000 4000
1123000 | 2.3. Muydwibiwgpuht uyy Swnuynypynibibph dbnppbpnuf x 200.0 650.0 900.0 1,080.0
1123200] - <widwlupgswihts Swnwynyegnisubip 423200 2000 2000 200.0 2000
1123300| - Upfuwnuwiuqip dwutwghnwlwl qupquigdwl 423300 800 180.0 2800
Swnuwynuzniubp
11234001 - Stinthwundwluwl swnwjapniabtip 423400 500 100.0 100.0
1123700| - Lbphuyjwgmagswluwl duwifuubip 423700 - 3200 4200 5000
1125000 | 2.5. Copughly unpngmd Ut wuhupwtingd x 1,215.0 1,365.0 2,045.0 2,310.0
(Swnuynyzymblibip It ynipbp)
1125100| - thupbph U Yuwnnygutinh pupwghl unpagnid b wuhywngd 425100 950 0 950.0 950.0 950.0
1125200 - Ubiphuwubph b uvwppunnprudubiph pgwghy Unpagnud L 425200 265.0 4150 1,095.0 1.360.0
wwhwwunmd
1126000 {2.6. Lymppbp (wupwbpbibp) x 1,025.0 1,025.0 1,706.0 1,706.0
1126100/ - Fpwubljwluyht Uyniplp U hwgnun 426100 293.0 2930 293.0 2930
1126200/ - Hyninuunbinbuwlwl wwpwliptbin 426200 96.0 96 0 621.0 621.0
1126400] - Spwuynpunwhl Yinyatip 426400 198.0 198 0 1980 198.0
1126700 - “lugunuihl U hwlpuwht ubtnh Ynypbp 426700 2380 2380 238.0 238.0
1126800 - Cwnmy buywinwlught wy Ujnpbn 426900 200.0 2000 356.0 356 0
1170000{7. U3L TUhsULP x 5,562.0 8,460.2 1,307.4 14,9432
wyny pUmd’
1172000 | 7.2. Cwplibp, upumpunhp JGwpbbp U qrnydbp, npabip X 5,562.0 7,870.2 10,717.4 14,353.2
Gunwdwpdwy puppbp Julwpnulibbph 4nndhg
Ghpwndmd Gy dpdjuwbg blpwgpdudp
172200( - Wy hwplybp 482200 5,034.8 7.343.0 9.874.0 13.3532
1172300} - Mwpuwnhp Yewpubip 482300 5272 527.2 843.4 1,000 0
11760007.6. Uy dwipuubp x - 590.0 590.0 590.0
1176100] - Wy dwfuubin 486100 5900 590.0 5900




u P q 2 3 6 9 10 n 12
4000000|£. N2 $hLULUULUL ULSPhULER X - 1,100.0 1,100.0 1,100.0 1,100.0
(wnn 1200000 + 1300000)
unn milnof
1200000[PL. N2 HPLULULLUL ULShdLErR QTN DU UL X - 1,100.0 1,100.0 1,100.0 1,100.0
wyry pyned’
1210000 |1. <PULULUL UhRNSLEN x - 1,100.0 1,100.0 1,100.0 1,100.0
nnhg’
1216000( - Uy dbpblwtbp b vwppuwdnpnudubp 512900 - 200.0 200.0 2000 200.0
1218200] - 9bnnbghwluwit puipniqugpwyuls dwiuubp 513300 - 9000 900 0 900.0 900 0
3000000/l CLAUUBLC HPUUULUL UhNSLENP H6DhShS x - 16,431.0 16,431.0 16,431.0 16,431.0
(CUALLARTDY)
(wny 1000000 - ning 2000000}
5000000/[IV. 75Hb8hSh SPLULUULNMUUL UNP3NRPLENT - 16,431.0 16,431.0 16,431.0 16,431.0
5124000 | 2.4. buwqiwlbpynyepwl Gpbpf bhtwbuwdnpdubl x - 16,431.0 16,431.0 16,431.0 16,431.0
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